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=-2(x2+3x-2) +53x% - 2x + 1) —4(4x% + 2x - 3)

= -3x% - 24x + 21




6. x+y+z=1Lxy+yz+zx=2xz=34 M, (x+1)(y+1)(z+1)
of ke Fatoler,

> E.

> ®™e: 7

x+D+1(+1)
=xyz+xy+yzt+tzx+x+y+z+1
=7




7

S 127

St

L2
S

rlo
fllo

AF

fllo

7. O AL A

O (x—y-2)2=x%-y?—22 —2xy + 2y7 — 22x

@ (3x-2y)% = 27x3 — 54x%y + 18xy? — 8y3
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2a—4b = -8
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@® 21 @ 23 ® 25 @)27 ® 29
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14. A A abcol Mot a+b+c=2,a®>+b>+c? =6, abc = -1
Ao, a3+ b + 2 9 F2?
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(a+b+c)?=a®+b?+c3+2(ab + be + ca)
ab+bc+ca=-1

ad+b+c3

= (a+b+c)(a*+b?+ c?—ab - bc - ca) + 3abc
=2x(6-(-1))-3=11
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2(ab + bc + ca) = 52
dla+b+c)=36 > a+b+c=9
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VAZ+y2+ 2 =14 @ol1
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®©, @ °flA 222 = 142 + 2(xy + yz + zx)
" 2(xy +yz +2zx) = 288




17. Al A= a, b, 7t Oa Al 215 W52

a+b+c=1, ab+bc+ca=1, abc =1

ol W, (a+b)(b+c)(c+a)l] F2?

a+b+c=1°4
a+b=1-c¢c,b+c=1-a,c+a=1-b
(a+b)(b+c)(c+a)
=(1-)(1-a)(1-b)
=1-(a+b+c)+ (ab+ bc + ca) — abc
=1-1+1-1=0
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=(22-1)(22+1)(2*+ 1)(28 + 1)(2'6 + 1)
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